


[onoBa:
1. 6¢c6H B KA=6
2:,6Np=12
3. (C6H, np)*6=18
4. cOH, np, (2C6H, Np)*5, cOH=24
5. (np, 3c6H)*6=30
6. 2COH, np, (4C6H, nNp)*5, 2cO6H=36
7-10. 36C6H
11. 2c6H, y0, (4c6H, y0)*5, 2c6H=30
12. (3c6H, y0)*6=24
13. cbH, Y6, (2c6H, y6)*5, cOH=18
14. (C6H, y6)*6=12

@juliiapyha



TynoBuue:
1. 6¢6H B KA=6
2. 6np=42
3. (C6H, np)*6=18
4. cbH, np, (2cbH, nNp)*5, cOH=24
5. (np, 3c6H)*6=30
6. 2c6H, np, (4c6H, np)*5, 2c6H=36
7-11. 36¢C6OH
12. 2Cc6H, y0, (4C6H, y0)*5, 2c6H=30
13. (3COH, y0)*6=24
14-15. 24c6H
16. COH, Y6, (2€6H, y6)*5, cOH=18
17. (COH, y6)*6=12
18-25. 12c6H
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Ywkn (2wr):

1. 6¢6H B KA=6
2. (Np; €cOH)*3=9
3-4. 9coH
5. (2C6H,.Np)*3=12
6. (COH, Np)*6=18
7. 18CcOH
8. (2C6H, np)*6=24
9-12. 24c6H
13. (2c6H, y6)*6=18
14. (c6H, y6)*6=12
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Pyku n Horu (4w):
benbiMm:
1. 6C6H B KA=6
2. 6np=12
3. (C6H, nNp)*6=18
4-5. 18c6H
6. (COH, y0)*6=12
7. (2Cc6H, y6)*3=9
CmMmeHa uBeTa
8-32. 8C6H
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PoXxku (2 wr):
benbim:
1. 6COH B KA=6
2. 6np=12
3. (C6H, Np)*6=18
4-5. 18CcOH
6. (COH, y6)*6=12
7. (cbH, y6)*4=8
CMeHa uBeTa
8-14. 8c6H
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Mopaouka:
1. 5Bn
2. CO BTOPOW MNeT/Nn OT KproYKa:
3Cc6H, 3COH B NOC/.NET/IO,

No Apyron CTopoHe: 2c6H, np=10
3. nNp, 2C6H, Np*3, 2COH, Np*2=16
4. np, 4c6H, np, 2c6H, np, 4c6H, np,
2CH6H=20COH
5-6. 20c6OH
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